

Contents lists available at ScienceDirect

J. Math. Anal. Appl.



www.elsevier.com/locate/jmaa

A note on Browder spectrum of operator matrices $\stackrel{\diamond}{\sim}$

Shifang Zhang*, Huaijie Zhong

Department of Mathematics, Fujian Normal University, Fuzhou 350007, PR China

ARTICLE INFO

Article history: Received 10 September 2007 Available online 28 March 2008 Submitted by R. Curto

Keywords: Hilbert space Operator matrices Browder spectrum Drazin inverse

ABSTRACT

When $A \in B(H)$ and $B \in B(K)$ are given, we denote by M_C the operator acting on the Hilbert space $H \oplus K$ of the form $M_C = \begin{pmatrix} A & C \\ 0 & B \end{pmatrix}$. In this note, it is shown that the following results in [Hai-Yan Zhang, Hong-Ke Du, Browder spectra of upper-triangular operator matrices, J. Math. Anal. Appl. 323 (2006) 700–707]

 $W_3(A, B, C) = W_1(A, B, C)$ (in line 17 on p. 705)

and

$$\bigcap_{C \in B(K,H)} \sigma_b(M_C) = \left(\bigcap_{C \in B(K,H)} \sigma(M_C)\right) \setminus \left[\rho_b(A) \cap \rho_b(B)\right]$$

are not always true, although the authors tried to fill the gap in their proofs by proposing an additional condition in [H.-Y. Zhang, H.-K Du, Corrigendum to "Browder spectra of upper-triangular operator matrices" [J. Math. Anal. Appl. 323 (2006) 700–707], J. Math. Anal. Appl. 337 (2007) 751–752]. A counterexample is given and then we show that under one of the following conditions:

(i) $\sigma_{su}(B) = \sigma(B);$ (ii) $int \sigma_p(B) = \phi;$ (iii) $\sigma(A) \cap \sigma(B) = \phi;$ (iv) $\sigma_a(A) = \sigma(A),$

we have

$$\bigcap_{C \in B(K,H)} \sigma_b(M_C) = \sigma_{le}(A) \cup \sigma_{re}(B) \cup W(A,B) \cup \sigma_D(A) \cup \sigma_D(B),$$

where $W(A, B) = \{\lambda \in \mathbb{C}: N(B - \lambda) \text{ and } H/\overline{R(A - \lambda)} \text{ are not isomorphic up to a finite dimensional subspace}\}.$

© 2008 Elsevier Inc. All rights reserved.

1. Introduction

Throughout this note, let *H* and *K* be Hilbert spaces, B(H, K) be the set of all bounded linear operators from *H* into *K*. For simplicity, we also write B(H, H) as B(H). If $T \in B(H, K)$, we use R(T) and N(T) to denote the range and kernel of *T*,

* Corresponding author.

^{*} This work has been supported by the National Natural Science Foundation of China (No. 10471025) and the Natural Science Foundation of Fujian Province (Nos. Z0511019, S0650009).

E-mail address: shifangzhangfj@163.com (S. Zhang).

⁰⁰²²⁻²⁴⁷X/\$ – see front matter $\,\, @$ 2008 Elsevier Inc. All rights reserved. doi:10.1016/j.jmaa.2008.03.048 $\,$

respectively. And let $\alpha(T) = \dim N(T)$ and $\beta(T) = \dim K/R(T)$. Denote asc(T) and des(T) for the ascent and the descent of *T*, respectively. If the ascent and the descent of *T* are finite, then they are equal (see [3]). For a compact subset *M* of \mathbb{C} , we write acc M, int M, iso M and ∂M , respectively, to denote the set of all points of accumulation of *M*, the interior of *M*, the isolated points of *M* and the boundary of *M*. The sets of left and right Fredholm operators on *H*, respectively, are defined as $\Phi_l(H) = \{T \in B(H): R(T) \text{ is closed and } \alpha(T) < \infty\}$ and $\Phi_r(H) = \{T \in \Phi(H): \beta(T) < \infty\}$. The sets of Fredholm operators and Browder operators on *H*, respectively, are defined by $\Phi(H) = \{T \in B(H): \alpha(T) < \infty \text{ and } \beta(T) < \infty\}$ and $\Phi_b(H) =$ $\{T \in \Phi(H): asc(T) = des(T) < \infty\}$. The spectrum, the approximate point spectrum, the defect spectrum, the point spectrum, the essential spectrum, the Browder spectrum, the Browder resolvent of $T \in B(H)$ are, respectively, defined by $\sigma(T) = \{\lambda \in \mathbb{C}: \lambda - T \text{ is not invertible}\}, \sigma_a(T) = \{\lambda \in \mathbb{C}: \lambda - T \text{ is not bounded below}\}, \sigma_{su}(T) = \{\lambda \in \mathbb{C}: R(\lambda - T) \neq H\},$ $\sigma_p(T) = \{\lambda \in \mathbb{C}: \lambda - T \text{ is not injective}\}, \sigma_e(T) = \{\lambda \in \mathbb{C}: \lambda - T \notin \Phi(H)\}, \sigma_b(T) = \{\lambda \in \mathbb{C}: \lambda - T \notin \Phi_b(H)\}$ and $\rho_b(T) =$ $\mathbb{C} \setminus \sigma_b(T)$. The Drazin inverse of $T \in B(H)$ is the unique operator $T^D \in B(H)$ satisfying

$$TT^D = T^D T, \qquad T^D TT^D = T^D, \qquad T^{k+1}T^D = T^k,$$

for some nonnegative integer k (see [3]). It is well known that T is Drazin invertible if and only if it has finite ascent and descent, which is equivalent to the fact that $T = T_1 \oplus T_2$, where T_1 is an invertible operator and T_2 is nilpotent (see [6]). The Drazin spectrum and the Drazin resolvent of T are defined by $\sigma_D(T) = \{\lambda \in C: \lambda - T \text{ is not Drazin invertible}\}$ and $\rho_D(T) = C \setminus \sigma_D(T)$, respectively.

For given $A \in B(H)$, $B \in B(K)$ and $C \in B(K, H)$, we have $M_C = \begin{pmatrix} A & C \\ O & B \end{pmatrix} \in B(H \oplus K)$.

2. Main results and an example

We begin with some notations and terminology in [1].

 $\sigma(A) \cup \sigma(B) = \sigma(M_C) \cup W_1(A, B, C),$

where $W_1(A, B, C)$ is the union of certain of the holes in $\sigma(M_C)$, which happen to be subsets of $\sigma(A) \cap \sigma(B)$.

$$\sigma_b(A) \cup \sigma_b(B) = \sigma_b(M_C) \cup W_3(A, B, C),$$

where $W_3(A, B, C)$ is the union of certain of the holes in $\sigma_b(M_C)$, which happen to be subsets of $\sigma_b(A) \cap \sigma_b(B)$.

Before explaining the main theorem, we give a counterexample to say that there exist $A \in B(H), B \in B(K), C \in B(K, H)$, such that neither

$$\bigcap_{C \in B(K,H)} \sigma_b(M_C) = \left(\bigcap_{C \in B(K,H)} \sigma(M_C)\right) \setminus \left[\rho_b(A) \cap \rho_b(B)\right].$$

nor

$$W_3(A, B, C) = W_1(A, B, C)^T$$

holds.

Example 2.1. Let l_2 be a complex separable infinite dimensional Hilbert space and X_n be a complex finite dimensional Hilbert space with dim $X_n = n < \infty$. Define operators $T, S, C \in B(l_2)$ by

$$T(x_1, x_2, x_3, \ldots) = (0, x_1, x_2, x_3, \ldots)$$
 for any $(x_1, x_2, x_3, \ldots) \in I_2$

and

 $S = T^*$, C = I - TS.

Let

$$M_{C_1} = \begin{pmatrix} T & C_1 \\ 0 & S' \end{pmatrix} : l_2 \oplus (l_2 \oplus X_n) \to l_2 \oplus (l_2 \oplus X_n) = \begin{pmatrix} T & C & 0 \\ 0 & S & 0 \\ 0 & 0 & 0 \end{pmatrix} : l_2 \oplus l_2 \oplus X_n \to l_2 \oplus l_2 \oplus X_n,$$

where $C_1 = (C \ 0) : l_2 \oplus X_n \to l_2$, $S' = \begin{pmatrix} S \ 0 \\ 0 \ 0 \end{pmatrix} : l_2 \oplus X_n \to l_2 \oplus X_n$.

¹ In [2], Zhang and Du found that formula (12) used in their proofs of Theorem 4 in [1] is not always true and proposed an additional condition to fill this gap. However, there is another gap in the proof of Theorem 4 in [1], that is, the claim in line 17 on p. 705 is not always true. It seems that this claim had not been corrected by the authors, but the additional condition in [2] can also fill this gap, in fact, if $iso(\partial A_{(A,B)}) = \phi$, then $W_3(A, B, C) = W_1(A, B, C)$.

Then we can claim that

(1)

$$0 \in \left(\bigcap_{Q \in B(l_2 \oplus X_n, l_2)} \sigma(M_Q)\right) \setminus \left(\rho_b(T) \cap \rho_b(S')\right), \text{ but } 0 \notin \bigcap_{Q \in B(l_2 \oplus X_n, l_2)} \sigma_b(M_Q).$$

Thus,

$$\bigcap_{Q \in B(l_2 \oplus X_n, l_2)} \sigma_b(M_Q) \neq \left(\bigcap_{Q \in B(l_2 \oplus X_n, l_2)} \sigma(M_Q)\right) \setminus \left(\rho_b(T) \cap \rho_b(S')\right).$$

In fact:

(i) Since $M_Q = \begin{pmatrix} T & Q \\ 0 & S' \end{pmatrix}$ cannot be surjective for any $Q \in B(l_2 \oplus X_n, l_2)$, then M_Q is not invertible. Thus $0 \in Q$ $\bigcap_{Q \in B(l_2 \oplus X_n, l_2)} \sigma(M_Q).$

- (ii) Since $des(T) = asc(S') = \infty$, then neither S' nor T is Browder operator. Hence $0 \notin (\rho_b(T) \cap \rho_b(S'))$. (iii) It is well known that $\begin{pmatrix} T & C \\ 0 & S \end{pmatrix}$ is unitary and then $\begin{pmatrix} T & C \\ 0 & S \end{pmatrix}$ is invertible. Moreover, since dim $X_n = n < \infty$, then M_{C_1} is Drazin invertible Fredholm operator. Therefore $0 \notin \bigcap_{Q \in B(l_2 \oplus X_n, l_2)} \sigma_b(M_Q)$.

(2) From (iii), we can get that $\sigma(M_{C_1}) = \{\lambda \in \mathbb{C}: |\lambda| = 1\} \cup \{0\}$ and $\sigma_b(M_{C_1}) = \{\lambda \in \mathbb{C}: |\lambda| = 1\}$. Meantime, it is easy to prove that

$$\sigma(T) = \sigma_b(T) = \sigma(S') = \sigma_b(S') = \{\lambda \in \mathbb{C} : |\lambda| \leq 1\}.$$

Thus

$$\{\lambda \in \mathbb{C}: \ 0 < |\lambda| < 1\} = W_1(T, S', C_1) \neq W_3(T, S', C_1) = \{\lambda \in \mathbb{C}: \ |\lambda| < 1\}$$

and

 $\{0\} = iso \sigma(M_{C_1}) \neq iso(\sigma(T) \cup \sigma(S')) = \phi.$

In order to prove our main result, we need the following lemmas.

Lemma 2.2.

(i) Suppose that $\lambda_0 \in \sigma(T)$ and suppose that each neighborhood of λ_0 contains a point that is not an eigenvalue of T. Then λ_0 is a pole of the resolvent operator $R_{\lambda} = (\lambda - T)^{-1}$ if and only if $\lambda_0 - T$ has finite descent.

(ii) If $0 \in \sigma(T)$, then 0 is a finite order pole of the resolvent operator R_{λ} if and only if $des(T) < \infty$ and $asc(T) < \infty$.

The result of (i) can be found from Theorem 10.5 in [5] and the result of (ii) can also be obtained easily from Theorems 10.1 and 10.2 in [5].

Lemma 2.3. (See [4].) For a given pair (A, B) of operators, if M_C is Drazin invertible for some $C \in B(K, H)$, then A is Drazin invertible if and only if B is Drazin invertible.

Lemma 2.4. (See [4].) For a given pair (A, B) of operators, if M_C is Drazin invertible for some $C \in B(K, H)$, then

(a) $des(A^*) < \infty$ and $asc(A) < \infty$; (b) $des(B) < \infty$ and $asc(B^*) < \infty$.

Lemma 2.5. (See [3].) For a given pair (A, B) of operators, then

$$\bigcap_{C \in B(K,H)} \sigma_e(M_C) = \sigma_{le}(A) \cup \sigma_{re}(B) \cup W(A,B),$$

where $\sigma_{le}(A) = \{\lambda \in \mathbb{C}: A - \lambda \notin \Phi_l(H)\}, \sigma_{re}(A) = \{\lambda \in \mathbb{C}: A - \lambda \notin \Phi_r(H)\}, W(A, B) = \{\lambda \in \mathbb{C}: N(B - \lambda) \text{ and } H/\overline{R(A - \lambda)} \text{ are not } H/\overline{R(A - \lambda)} \text{ and } H/\overline{R(A - \lambda)} \text{ are not } H/\overline{R(A - \lambda)} \text{ and } H/\overline{R(A - \lambda)} \text{ are not } H/\overline{R(A - \lambda)} \text{ and } H/\overline{R(A - \lambda)} \text{ are not } H/\overline{R(A - \lambda)} \text{ and } H/\overline{R(A - \lambda)} \text{ are not } H/\overline{R(A - \lambda)} \text{ and } H/\overline{R(A - \lambda)} \text{ are not } H/\overline{R(A - \lambda)} \text{ and } H/\overline{R(A - \lambda)} \text{ are not } H/\overline{R(A - \lambda)} \text{ and } H/\overline{R(A - \lambda)} \text{ are not } H/\overline{R(A - \lambda)} \text{ and } H/\overline{R(A - \lambda)} \text{ are not } H/\overline{R(A - \lambda)} \text{ are not } H/\overline{R(A - \lambda)} \text{ and } H/\overline{R(A - \lambda)} \text{ are not } H/\overline{R(A - \lambda)} \text{ and } H/\overline{R(A - \lambda)} \text{ are not } H/\overline{R(A - \lambda)} \text{ and } H/\overline{R(A - \lambda)} \text{ are not } H/\overline{R(A - \lambda)} \text{ are not } H/\overline{R(A - \lambda)} \text{ and } H/\overline{R(A - \lambda)} \text{ are not } H/\overline{R(A - \lambda)} \text{ and } H/\overline{R(A - \lambda)} \text{ are not }$ isomorphic up to a finite dimensional subspace}.

Theorem 2.6. For a given pair (A, B) of operator, we have

$$\bigcap_{C \in B(K,H)} \sigma_b(M_C) \subseteq \left(\sigma_{le}(A) \cup \sigma_{re}(B) \cup W(A,B) \cup \sigma_D(A) \cup \sigma_D(B)\right).$$

In particular, under one of the following conditions:

(i) $\sigma_{su}(B) = \sigma(B);$ (ii) $int \sigma_p(B) = \phi;$ (iii) $\sigma(A) \cap \sigma(B) = \phi;$ (iv) $\sigma_q(A) = \sigma(A),$

we have

$$\bigcap_{C \in B(K,H)} \sigma_b(M_C) = \sigma_{le}(A) \cup \sigma_{re}(B) \cup W(A,B) \cup \sigma_D(A) \cup \sigma_D(B),$$

where $W(A, B) = \{\lambda \in \mathbb{C}: N(B - \lambda) \text{ and } H/\overline{R(A - \lambda)} \text{ are not isomorphic up to a finite dimensional subspace}\}$.

Proof. (1) The proof of the inclusion can be found in [3].

(2) In order to prove

$$\bigcap_{C \in B(K,H)} \sigma_b(M_C) = \sigma_{le}(A) \cup \sigma_{re}(B) \cup W(A,B) \cup \sigma_D(A) \cup \sigma_D(B)$$

under certain conditions, we only need to prove

$$\bigcap_{C \in B(K,H)} \sigma_b(M_C) \supseteq \left(\bigcap_{C \in B(K,H)} \sigma_e(M_C)\right) \cup \sigma_D(A) \cup \sigma_D(B)$$

from (1) and Lemma 2.5. That is, it suffices to show that

$$\lambda \notin \left(\bigcap_{C \in B(K,H)} \sigma_{e}(M_{C})\right) \cup \sigma_{D}(A) \cup \sigma_{D}(B)$$

for any $\lambda \notin \bigcap_{C \in B(K,H)} \sigma_b(M_C)$.

(i) If $\sigma_{su}(B) = \sigma(B)$ and $\lambda \notin \bigcap_{C \in B(K,H)} \sigma_b(M_C)$, then there exists $C \in B(K, H)$ such that $M_C - \lambda$ is Browder operator. That is, $M_C - \lambda$ is Drazin invertible Fredholm operator. This implies that $\lambda \notin \bigcap_{C \in B(K,H)} \sigma_e(M_C)$ and $0 \in \rho(M_C) \cup iso(\sigma(M_C))$. Thus, there exists $\varepsilon > 0$, such that for any $0 < |\lambda_0| < \varepsilon$, $M_C - \lambda - \lambda_0$ is invertible and it is easy to prove that $B - \lambda - \lambda_0$ is right invertible. It follows $\lambda \notin acc\sigma_{su}(B) = acc\sigma(B)$. Since $M_C - \lambda$ is Drazin invertible, from Lemma 2.4 we have $des(B - \lambda) < \infty$. If $\lambda \notin \sigma(B)$, then $B - \lambda$ is Drazin invertible. Otherwise, if $\lambda \in \sigma(B)$, by Lemma 2.2, we also have that $B - \lambda$ is Drazin invertible. So $B - \lambda$ is Drazin invertible. Furthermore, using Lemma 2.3, we get $A - \lambda$ is Drazin invertible. Thus, $\lambda \in [\rho_D(A) \cap \rho_D(B)]$. Therefore

$$\lambda \notin \left(\bigcap_{C \in B(K,H)} \sigma_e(M_C)\right) \cup \sigma_D(A) \cup \sigma_D(B)$$

for any $\lambda \notin \bigcap_{C \in B(K,H)} \sigma_b(M_C)$.

(ii) If $int \sigma_p(B) = \phi$ and $\lambda \notin \bigcap_{C \in B(Y, X)} \sigma_b(M_C)$, similar to (i), we can also obtain that $\lambda \in [\rho_D(A) \cap \rho_D(B)]$ and $\lambda \notin \bigcap_{C \in B(K,H)} \sigma_e(M_C)$.

It follows $\lambda \notin (\bigcap_{C \in B(K,H)} \sigma_e(M_C)) \cup \sigma_D(A) \cup \sigma_D(B)$ for any $\lambda \notin \bigcap_{C \in B(K,H)} \sigma_b(M_C)$.

(iii) If $\sigma(A) \cap \sigma(B) = \phi$ and $\lambda \notin \bigcap_{C \in B(K,H)} \sigma_b(M_C)$, then there exists $C \in B(K,H)$ such that $M_C - \lambda$ is Browder operator. That is, $M_C - \lambda$ is Drazin invertible Fredholm operator. Thus $\lambda \notin \bigcap_{C \in B(K,H)} \sigma_e(M_C)$. Since $\sigma(A) \cap \sigma(B) = \phi$, then for any $\lambda \in \mathbb{C}$, either $\lambda \in \rho(A)$ or $\lambda \in \rho(B)$. If $\lambda \in \rho(A)$, then $A - \lambda$ is Drazin invertible. By Lemma 2.3, $B - \lambda$ is Drazin invertible. Thus $\lambda \in [\rho_D(A) \cap \rho_D(B)]$. If $\lambda \in \rho(B)$, similarly, we can obtain $\lambda \in [\rho_D(A) \cap \rho_D(B)]$. It shows that

$$\lambda \notin \left(\bigcap_{C \in B(K,H)} \sigma_e(M_C)\right) \cup \sigma_D(A) \cup \sigma_D(B) \text{ for any } \lambda \notin \bigcap_{C \in B(K,H)} \sigma_b(M_C).$$

(iv) If $\sigma_a(A) = \sigma(A)$ and $\lambda \notin \bigcap_{C \in B(K,H)} \sigma_b(M_C)$, then there exists $C \in B(K,H)$ such that $M_C - \lambda$ is Drazin invertible Fredholm operator. This implies that $\lambda \in \rho(M_C) \cup iso \sigma(M_C)$. Thus there exists $\varepsilon > 0$ such that for any $0 < |\lambda_0| < \varepsilon$, $M_C - \lambda - \lambda_0$ is invertible and it is easy to prove that $A - \lambda - \lambda_0$ is left invertible. Thus $\lambda \notin acc \sigma_a(A) = acc \sigma(A)$, that is $\overline{\lambda} \notin acc \sigma(A^*)$. Since $M_C - \lambda$ is Drazin invertible, then $M_C^* - \overline{\lambda}$ is Drazin invertible. Furthermore, by Lemma 2.4, we have $des(A^* - \overline{\lambda}) < \infty$. From Lemma 2.2, it follows that $A^* - \overline{\lambda}$ is Drazin invertible and then $A - \lambda$ is Drazin invertible. Then we can get that $B - \lambda$ is Drazin invertible from Lemma 2.3. So $\lambda \in [\rho_D(A) \cap \rho_D(B)]$. Moreover, $\lambda \notin \bigcap_{C \in B(K,H)} \sigma_b(M_C)$ implies that $\lambda \notin \bigcap_{C \in B(K,H)} \sigma_e(M_C)$. It follows

$$\lambda \notin \left(\bigcap_{C \in B(K,H)} \sigma_e(M_C)\right) \cup \sigma_D(A) \cup \sigma_D(B) \text{ for any } \lambda \notin \bigcap_{C \in B(K,H)} \sigma_b(M_C). \square$$

Corollary 2.7. For a given pair (A, B) of operator, if any one of the following conditions is met:

(i) $acc \sigma(B) = \phi$; (ii) $int \sigma(B) = \phi$; (iii) $acc \sigma(A) = \phi$; (iv) $int \sigma(A) = \phi$,

then we have $\bigcap_{C \in \mathcal{B}(K,H)} \sigma_b(M_C) = \sigma_{le}(A) \cup \sigma_{re}(B) \cup W(A,B) \cup \sigma_D(A) \cup \sigma_D(B).$

Proof. Notice that if either $acc \sigma(B) = \phi$ or $int \sigma(B) = \phi$ holds, then $int \sigma_p(B) = \phi$ and if either $acc \sigma(A) = \phi$ or $int \sigma(A) = \phi$, then $\sigma_a(A) = \sigma(A)$. By these two facts and Theorem 2.6, the result is proved. \Box

The results of Theorem 2.6 and Corollary 2.7 are similar to that of Theorem 3.9 in [3].

Proposition 2.8. If $\sigma_b(M_C) = \sigma_b(A) \cup \sigma_b(B)$, then $\sigma_D(M_C) = \sigma_D(A) \cup \sigma_D(B)$ holds.

Proof. Suppose that $\sigma_b(M_C) = \sigma_b(A) \cup \sigma_b(B)$, we prove that $\sigma_D(M_C) \supseteq \sigma_D(A) \cup \sigma_D(B)$ firstly. Without loss of generality, we suppose that $0 \notin \sigma_D(M_C)$, which implies $0 \in \rho(M_C) \cup iso(\sigma(M_C))$. Therefore there exists $\varepsilon > 0$ such that for any $0 < |\lambda| < \varepsilon$, $M_C - \lambda$ is invertible and it is easy to prove that $B - \lambda$ is right invertible. Hence we have $\beta(B - \lambda) = 0$. Moreover, since $M_C - \lambda$ is invertible for every $0 < |\lambda| < \varepsilon$, then $\lambda \notin \sigma_b(M_C) = \sigma_b(A) \cup \sigma_b(B)$, so $B - \lambda \in \Phi_b(Y)$. Therefore $\alpha(B - \lambda) = \beta(B - \lambda) = 0$, that is, $B - \lambda$ is invertible for every $0 < |\lambda| < \varepsilon$. Since $0 \notin \sigma_D(M_C)$, from Lemma 2.4 we have $des(B) < \infty$. By Lemma 2.2 we know that *B* is Drazin invertible. And hence *A* is also Drazin invertible from Lemma 2.3. Thus $0 \notin \sigma_D(A) \cup \sigma_D(B)$. It proves that $\sigma_D(M_C) \supseteq \sigma_D(A) \cup \sigma_D(B)$. In [4], Cao et al. have proved that $\sigma_D(M_C) \subseteq \sigma_D(A) \cup \sigma_D(B)$ for every $C \in B(K, H)$. It is clear that $\sigma_D(M_C) = \sigma_D(A) \cup \sigma_D(B)$. \Box

References

- [1] Hai-Yan Zhang, Hong-Ke Du, Browder spectra of upper-triangular operator matrices, J. Math. Anal. Appl. 323 (2006) 700-707.
- [2] H.-Y. Zhang, H.-K. Du, Corrigendum to "Browder spectra of upper-triangular operator matrices" [J. Math. Anal. Appl. 323 (2006) 700-707], J. Math. Anal. Appl. 337 (2007) 751-752.
- [3] D.S. Djordjevic, Perturbations of spectra of operator matrices, J. Operator Theory 48 (2002) 467-486.
- [4] Xiao-hong Cao, Mao-zheng Guo, Bin Meng, Drazin spectrum and Weyl's theorem for operator matrices, J. Math. Res. Exposition 26 (2006) 413-422.
- [5] A.E. Taylor, D.C. Lay, Introduction to Functional Analysis, John Wiley & Sons, New York, 1980.
- [6] M. Berkani, Index of B-Fredholm operators and generalization of a Weyl theorem, Proc. Amer. Math. Soc. 130 (2002) 1717–1723.